
CES SUSTAINABLE TRANSPORT SERVICES

DOCUMENTUM:

FILE PATH: Transport and Infrastructure/ Transport Planning/TPU General

Admin & Offices Procedures/Documentum/Ruth Stephenson/York Central

FILE NAME: Transport Report for Stage 2 Appendix C 2003



YORK CENTRAL
TRANSPORT REPORT FOR STAGE 2 MASTERPLAN

APPENDIX C
SATURN MODELLING

STAGE 2

Prepared for

YORK CENTRAL STEERING
GROUP

ALAN BAXTER AND ASSOCIATES FEBRUARY 2003



FAX ALAN BAXTER & ASSOCIATES
^ FC1A SBEET CONSULTING ENGINEERS

75 COWCROSS STREET, LONDON ECIM 6EL
TELEPHONE 020 7250 1555 FAX 020 7250 3022
ENtAIL:aba@alanbaxter.co.uk

0

Paul Emmerson -
.

TRL

Stage 2 Saturn Modelling

We have just been advised by the client to proceed with some of the stage 2
Saturn Modelling. You should proceed with looking at the AM Peak only at this
stage.

We have agreed with CYC to model the development at year 5(effectively 2012) once
1470 residential dwellings and 42900 sq.m of office have been built. The modelling
should look at scenarios 5, 6 and 8. The attached sketches shows how the
development is distributed around the road network.

Assumptions

Global traffic will need to be inflated by an additional 4%. i.e. total of 8 % on
existing levels to account for a further 5 years growth.

Trip Rates

Office

AM Peak PM Peak
In Out In Out
0.75 0.09 T.B.C T.B.C

(Rates per 100 M2 gross)
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Residential

AM Peak PM Peak
In Out In Out

0.06 0.27 0.24 0.13

0

•

0

(Trip rate per dwelling)

Origin/Destination Matrices

Stuart Dalgleish CYC has generated these and will be emailing them to you
separately. They are based on averaging a number of existing residential and office
dominated zones within the Saturn model. He is using them for a separate commission
which CYC are undertaking. I understand he has already set up two new zones in the
model , one for residential and one for office development.

Please note that the trip rates for the office development have been developed
assuming that 50% of trips go and park at York Central and 50% go to the Park and
Ride. This needs to be reflected in the modelling with, as I understand, half of the
trips going into matrix 1 and half going to matrices 3,4 and 5. Attached is also a copy
of an email from Stuart Dalgleish explaining what needs doing to the model to update
it. I'd be grateful if you would liaise with Stuart to get the appropriate matrices and
sketches.

We have agreed initially an 85% capacity acceptance threshold with CYC for links
and junctions. We will need to take a view on those junctions which are currently at
capacity and discuss them with CYC. For now we just need to get on with the
modelling and see what comes out from it.

Outputs
I will advise you shortly of the outputs we will need but the format will be similar to
stage 1.

Programme

We need this complete asap. It would be good to have this done by next Monday or
Tuesday. Please ring and let me know what is possible.

Regards
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P° Ĉ  `cgp IN4cr_

1.? 2 216 Ln
co IZI, 13() r-J,
C)

qLm w s

I?

s CO I W^ y

AM 2011. York C;erli.:r.a1. - Test 2 18-10 -02
-- ----n^vr, .^Ccual 10 1 k vase llUw) , ( L of J) 1



112 216 n d'

v` 136 139

W01 <

Co

p^ cry 3 lG^. 'f
y

49 1
! / ^

651

7 7CO
LGl

'

Om 198
•-^ r" - ^ trO) u^ C 7F-

^
^

i79
I^ 42

Ei55 ^" .

21a
,
n

^.T^yID J. ^f

LO
a,

ry

2s7 ^ 26-1

q^^r
81,

2116 2335 ^l8
I 19a^} 1980 77 i

, 21 3 cs r 122
1
4 .t

-7lL ^ t

7

^'

[_ l

^1

^
19

^6R
I^o'

r'iU
r, rU i

91-
P

^

AM 2011 - York Cent;r.a.l. - Test ?.. 1.8--1.0-02
ctual flow, Scenario 5 (base flow), (3 of 5)



549

"q''^
9

'^h 32
~

`
`^

1 i

^ti^ h^'" 9 rtr

, • 1^' ^ ^ , ^ 'cs ^^ ^ _.,

^ ^ ^' / f t>>
♦ ^

cV / p

^ti

f ^
r^r (r' (.r)

s^ f
Cb

ti 7P ; ^ 4
^^01

4
(N

j
w

1 Cp

6$

37 > c'

`^'

^ o g

I'v
m ,11 5

og 6`9
453 4G3

9 6 a
© s r-,Ln fy1

Cl)
1 j

6ti
J

46^
0

r <.,a G^ g2 r^
7

6
^`

^1
22

AM 201-1. - York. Central Tost: 2 .1.8 -10-02

Actual flow, Scenario 5 (base flow), (4 1of 5)



4 6
r hC) '

4 ?
22 98 rL)

rv `.G s 231 ^7147
Sn

^
N 166

(5^^^
QV\

E1 ,99
280 280

cL7 r ,\cn ^

j 3
^^' ^ ; 14 7^ , v ^

936 ;
0^

,
469

= ^^+ rr 41.5^. -

^
9 r ^ l

r^
^g^^, , ^. ^ r \ r

216 1 Le n,,

+

49

3I#
3oa

^^^
CO

^ h5 r I

A14 2011. - Yo rk CeCli.,r.al. - T^;}t: 2 1.P, -1.0-02
^ ^ ^..»..^ .. wuov i.vrv), 3 vi



f..

k'. .`

.. _;t
.

„`•.,'^4 r•. ^^>,^1^.1,

^'i ^3

_..^
s

ti

k14 i0.1.1. York Central. Tost: 2 i.t;- 10--02

Actual flow, Scenario 5 (base flow), junction 1& 2



3`^ 3 !^^
r'". .

^^i^^ .3'^^^:v ^ .,..
ri ^ ^^^,•,.

, j

rf
^ ,̂/ ~M

'.3

AM 2011 - Yoik. Central - Test 2 18-10-02
Actual flow, Scenario 5 (base flow), junction 3



z

^ > >

5S 3 j

C; ' ?

G., 5\k!

f.3' ^ ^ f:,..,,,_

AM 2011 - York Central - Tnst 2 _1.R -10-02

Actual flow, Scenario 5 (base flow ), junction 4



.
.

AM 2011. - York Central -^est 2 18--10-02
Actual flow, Scenario 5 (base flow), junction 5

.
.

.

. .



`^ }

u^i:!

i1

i^.

.. ^ y`4 y` , ^

'(f ' ' a• ^

L/

r ------

AM 20.1.1. - York Central. - Test 2 1B-10-02

Actual flow, Scenario 5 (base flow), junction 6



•••••0••

^'.

^ti_ ' ^ '^ • ^

Y^ir:• P
^ ^:e^-,^• ^'

7S
' flY.^ Y

e

4J S

{

Pp

tp

A14 2()11 York Central. Test 2 18-10-02
Actual flow, Scenario 5 (base flow), junction 7 &$



;.,

fr .-. .:._ ^;

^. ^

^. ^

^. ^
^. ^

^. ^

^ ^ \ I

^. ^
^. ^

. \

-------------

AM 201.1. - York Central - Test ?.. i.!', -10-02

Actual flow, Scenario 5 (base flow), junction 9



'" \ p

• r ., -•.-^..^ ^ ^ \

^ \
♦

♦

rqtia., h r. " \

^ "l \

^.r
`J

v

AM 201.1 - York Central. Test: 2 1.8-10--02

Actual flow, Scenario 5 (base flow), junction 10 & 11



0

A14 701.1 - York Ceni.ral. - Test 2 1.01-1.0--02

Actual flow, Scenario 5 (base flow), Junction 12



,^.,,r

t'-" ^z•

t\ I'I

.t ,

\ -- •

,. g

"
AP''

Ar4 2011 - York Central, - Test 2 18-10-02

Actual flow, Scenario 5 (base flow), junction 13 & 14



ti1 0

U)
y

Ln

1.Z5
L
'

CO C1

\,.^
, 3 l^^

7Cl

CD
L

13 ^

CP o
10

°'337

y

J,
`^^i^^

^? 2 3 0\ \

4"

e, ^,,^
,g^E
J

a, 138 44
00

24 s' 3^ i 29

90
'Y) pj Rr ,ts ^f'

rD
^ ^ C7'

6

9

^
, 3

^

y C3
r- CO

J
^'

1
^

,o,^ 254 2^4h^
'C' n

219
y

0̂
^

4

VJl,^a V^5 Y^)

V ^l l.St

N

C`.7
7 i(^

'^ fJ
.

70

477 C
^ ^3. a5 J 34 C,

°W L

^ v

A _a.-_1

AM 201.1
.. .

- York ,r,Fntr.a.l. - Test 2 1.P,--1.0-0 2
ow - scenario:) (1 0



433
3 63

I AM 201.1 - York Central -- Test 2 18-10-02
Actual flow - Scenario 5 (2 of 5)

254 2Z 4



431
----362 363

I AM 201.1. - York Central - Test 2 1.8-10 -02
Actual flow - Scenario 5( 3 of 5)



`^^^ ^^ rv II

,-

a^$ }

r6'

`?a r

(. W^cn`^, CX^t

t. s ^ t
1^^ ^ ` U>y y ttc4

63
kJO ..o'

'

6y ^9l ss' r(?^ ^

3

s^
L

`7Z Q

^487

13 1691

S o
3%

47

47

.

Ilk 3 ^

N ,U ^^
53

AM?..0].1. - York Central - Tost 2 18-10-02

Actual flow - Scenario 5 (4 of 5)



11 11 ^ 4^ _
11

1$4
---- `^ -

cs^ 53<?g•
C,4
N

4g^ 3^2 ^r^Q21 ^
^ ^`^1 qort 16g ^ t19

^^

sr

1cy^

867

49^

2 63

FIg

c.^.a

n i ^^7q-2 53

SI ^ J

^ J

^g\

t^x J 514

26 <zz

r^Ĥtm
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